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—2x+3, -1<x<1. .
27. f(x) is continuous on
2. 1<x<3

[-13])




image5.png
31 f(x) = \i—:i, is continuous on (~e0, —1) and

(~1. ) because the domain of f consists of all real

‘numbers except x = —1. There is a discontinuity at
x = —1because f(~1)is not defined. and
lim_f(x) does not exist.

x>t
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50. Continuous on (1, 3) and (3, 4] because

R Al oy

discontinuities at x = land x = 3.

has nonremovable

52. 3

From the graph, you can see that k(1) is not defined,

so0 kis not continuous at x = 1. [Note: There is a hole
at x =4.]
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62. (a) The graph of G is not continuous on day 8 and
day 22.
(b) On these days, the person fills his or her gas tank.
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67. (a) The graph has nonremovable discontinuities at
t=11315

T ey
() Let t = 2.
4 = 7500(1.015)* 2] ~ s8448.69
(€) Lett =7.

4 = 7500(1.015) 1 & $11379.17

68. (a) s0000

0

Nonremovable discontinuities at f = 1, 2, 3, 4, 5;
s is not continuous at ¢ = 1. 2. 3. 4. or 5.

(b) For t = 5, S = $43,850,78.
The salary during the fifth year is $43,850.78.
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1. Continuous: The function is a polynomial.
2. Continuous; The function is a polynomial.

3. Not continuous: The rational function is not defined at
x = 4.

4. Not continuous; The rational function is not defined at
X = +3.

5. Continuous; The rational function's domain is the entire
real line.

6. Continuous; The rational function's domain is the entire
real line.

7. Not continuous: The rational function is not defined at
x=30rx=>35.

8. Not continuous: The rational function is not defined at
x=1lorx=35.

9. Not continuous; The rational function is not defined at
X =2,




image2.png
10.

11.

12.

13.

Not continuous; The rational function is not defined at
x = +4

2 -1
1) =2

(0. =) because the domain of f consists of all real
numbers except x = 0.There is a discontinuity at
x = 0 because f(0) is not defined and lim f(x)

x>0

is continuous on (0, 0) and

does not exist.

f(x) = pe ! 7 is continuous on (—e0, -2), (-2, 2)

and (2, =0) because the domain of f consists of all real
numbers except x = +2. There are discontinuities at
x = +2because f(2) and f(-2) are not defined and
lim f(x)and lim f(x)do not exist.

x32 x3-2

X -
f(x)= ,v(+11

(—l. w) because the domain of fconsists of all real
numbers except x = —1. There is a discontinuity at
x = —1because f(-1)is not defined and

tim, 70 # (1)

is continuous on (—oo, —1) and
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14 f(x) = ": :28 is continuous on (—, 2) and

(2. o0) because the domain of fconsists of all real

‘numbers except x = 2. There is a discontinuity at
x = 2because f(2) is not defined and

lim f(x) # f(2)
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